
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
2

6
-

3
=
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-
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=
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14 14 14

2) 5
+

3
=

9 6
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+

9
=
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18 18 18

3) 31
- 2

3
=

6 4
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-

33
=

29

12 12 12

4) 43
+

18
=

8 7

5
21

+ 2
32

= 7
53

56 56 56

5)
3

3
- 1

2
=

5 8

144
-

50
=

94

40 40 40

6)
5

3
+

20
=

8 9

5
27

+ 2
16

= 7
43

72 72 72

7) 2
-

1
=

3 2

4
-

3
=

1

6 6 6

8) 31
+ 1

3
=

9 4

3
16

+ 1
27

= 4
43

36 36 36

9) 41
-

17
=

9 7

287
-

153
=

134

63 63 63

10)
2

2
+ 2

1
=

3 8

2
16

+ 2
3

= 4
19

24 24 24

11)
3

2
-

18
=

5 7

119
-

90
=

29

35 35 35

12) 2
+

1
=

5 9

18
+

5
=

23

45 45 45

1. 1 5⁄14

2. 1 1⁄18

3. 2 5⁄12

4. 7 53⁄56

5. 2 14⁄40

6. 7 43⁄72

7.
1⁄6

8. 5 7⁄36

9. 2 8⁄63

10. 4 19⁄24

11.
29⁄35

12.
23⁄45

     

Calcola ogni operazione. Scrivi il risultato come un numero misto (se possibile).
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Soluzioni

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1)
2

6
-

3
=

7 2

40
-

21
=

19

14 14 14

2) 5
+

3
=

9 6

10
+

9
=

19

18 18 18

3) 31
- 2

3
=

6 4

62
-

33
=

29

12 12 12

4) 43
+

18
=

8 7

5
21

+ 2
32

= 7
53

56 56 56

5)
3

3
- 1

2
=

5 8

144
-

50
=

94

40 40 40

6)
5

3
+

20
=

8 9

5
27

+ 2
16

= 7
43

72 72 72

7) 2
-

1
=

3 2

4
-

3
=

1

6 6 6

8) 31
+ 1

3
=

9 4

3
16

+ 1
27

= 4
43

36 36 36

9) 41
-

17
=

9 7

287
-

153
=

134

63 63 63

10)
2

2
+ 2

1
=

3 8

2
16

+ 2
3

= 4
19

24 24 24

11)
3

2
-

18
=

5 7

119
-

90
=

29

35 35 35

12) 2
+

1
=

5 9

18
+

5
=

23

45 45 45

1. 1 5⁄14

2. 1 1⁄18

3. 2 5⁄12

4. 7 53⁄56

5. 2 14⁄40

6. 7 43⁄72

7.
1⁄6

8. 5 7⁄36

9. 2 8⁄63

10. 4 19⁄24

11.
29⁄35

12.
23⁄45

     

Calcola ogni operazione. Scrivi il risultato come un numero misto (se possibile).
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Semplificato 1-8 88 75 63 50 38 25 13 0

LCM = 14 LCM = 18
1)

2
6

-
3

=
7 2

40
-

21
=

19

14 14 14

2) 5
+

3
=

9 6

10
+

9
=

19

18 18 18

LCM = 12 LCM = 56
3) 31

- 2
3

=
6 4

62
-

33
=

29

12 12 12

4) 43
+

18
=

8 7

5
21

+ 2
32

= 7
53

56 56 56

LCM = 40 LCM = 72
5)

3
3

- 1
2

=
5 8

144
-

50
=

94

40 40 40

6)
5

3
+

20
=

8 9

5
27

+ 2
16

= 7
43

72 72 72

LCM = 6 LCM = 36
7) 2

-
1

=
3 2

4
-

3
=

1

6 6 6

8) 31
+ 1

3
=

9 4

3
16

+ 1
27

= 4
43

36 36 36

1.

2.

3.

4.

5.

6.

7.

8.

     

Calcola ogni operazione. Scrivi il risultato come un numero misto (se possibile).
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